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ME= +(FEx*29.0000”) + FEy*1.00000— (FFD™11.1777"#) + (Fjh*20.3352") = 0
Mi= +(1327.65¥29.0000") +1394.36%1.00000"— (2886.37#*7.22660") — (Fjh*20.3352") = O

936.188=Fhj

IFf=+FEx — FDF COS7.4168 + hj C0S29.6870° — Fgy=0
+1327.65# — 2886.89# * C0S41.0219° — 936.188# * C0S29.6870" + Fgy=0

1663.70# =Fgy

JF=+FEy — FDF SIN7.41678 + hj SIN29.6870° — Fgy=0
+1394.464 — 2886.894 * SIN41.0219° + 936.188# * SIN29.6870° + Fgy=0

36.6850# =Fay

29.0000

17.4300

23.2592

11.5700 11.6892

%64 #0L°¢991

5.74084

36.68504#=Fgy

Fhy=463.658#

FFy=1894.46#

2.28913
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SHEAR DIAGRAM CALCULATIONS
Fox+FFy+Fhy+FEx=0
—1663.70#+2177.68#+813.308#—1327.654#=0

Mos.go00=—1663.70#*29.0000"+(1894.46#*2.28913")+2177.65#*17.4300

FEy=1394.46#

0.260303

#80¢'clg =*ud

(463.658#*0.260303")+813.308#*5.74084"=—1405.81"#



